DAILY BASIS ASSIGNMENT
DAY': Thursday CLASS: V DATE:21.05.2020

SUBJECT: ENGLISH

1. Rearrange the following jumble words to make meaningful sentences.
a) Us/ good/ all/ speak/ can/ English/ of.

(i) English good can speak all of us.

(if) Good English can all of us speak.
(iii) All of us can speak good English.
(iv) Speak all of us can good English.

b) Is/ she/ to/ me/dear.
(i) Dear to me is she.

(i) She is dear to me.

(iif) Me is she dear.

(iv) To me she is dear.

c) Is/ cloudy/ sky/ the/ dark/ and.
(i) The dark and cloudy is sky.
(i) The sky is dark and cloudy.
(i) Dark and cloudy is the sky.
(iv) And the sky is dark cloudy.
d) Bridge/ there/ is/ a/ river/ over/ the.

(i) There is a bridge over the river.
(i) Over the river there is a bridge.
(i) A bridge is there over the river.
(iv) There over the river is a bridge.

e) A/ recently/ bicycle/ bought/ new/ Rohan.
(i) Rohan recently bought a new bicycle.

(if) A new bicycle Rohan bought recently.



(iii) Recently Rohan bought a new bicycle.

(iv) Bought a new bicycle Rohan recently.

SUBJECT: EVS
CHOOSE THE CORRECT OPTION:

1. Webbed feet is an adaptation in

a) aerial birds b) reptilian birds C) aquatic birds d) ostrich
2. Which of the following animals breathes in the same way as the fish?

a) prawn b) caterpillar C) worm d) lion
3.Which of the following animals is an omnivore?

a) snake b) crocodile c) rabbit d) crow
4.Name the bird that migrates from the north pole to the south pole and back.

a) arctic tern b) crane c) swallow d) penguin
5. An animal’s ‘habitat’ means the

a) place where it lives

b) kind of food it eats

c) colour it is

d) kind of body it has

SUBJECT: MATHS

l. Choose the correct answers
1.4908270+158=.........
a) 135065 b) 6543 c) 17577  d) 31065
2. 92x45+3294-1924=...........
a)5304 Db)5510 ) 2529  d) 5555
3. 58,425%236=..........
a) 13,788,300 b) 45,564,432 ) 9,564,432 d) 13,888,300
4. 324680+729632+3142962=............
a) 11453246  b) 35356112 ) 4197274  d) 1254643



5. 324718x0+0x46534=............
a) 0 b) 1658  c) 6668  d)327186

SUBJECT: COMPUTER

l. Choose the best options from those given below:
i) A computer finally gives out the information is called as
(@) Input (b) Output (c) Process

i) You cannot start a computer without
(a) Application software (b) Mouse (c) Printer

iii) In other words processed data is called
(@) Information (b) Data (c) Program

iv) Example of Application Software
(a) DOS (b) MS Word (c) Windows

v) Example of firmware
(a) Floppy Disk (b) CD-ROM (c) ICs

(d) All of these

(d) Keyboard

(d) Software

(d) Unix

(d) All of these
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